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1) 2) Find perimeter of 3) (9x98) +(9x 8"
Find the next three numbersin square having each side
the sequence s (s) equals 544 in
5,10,10,15,1520,20 , ,
S
Answer: Answer: Answer:
4) (3x 1% + (6x 89) 5) 5x 10 6)
Find the next three numbersin
the sequence
0112358 , ,
Answer: Answer: Answer:

n o _ 8) Find perimeter of 9) Find perimeter of
Find the next three numbersin square having each side square having each side
the sequence s () equals 958 m s (s) equals 298 cm
0112358 , ,

s s
Answer: Answer: Answer:
10) 47 x 100 11) 12) 660 + (-566)
Find the next three numbersin
the sequence
47,40,60,53,73,66,86__, ,
Answer: Answer: Answer:
13) Find perimeter of 14) (4x 49 - (7 x 103) 15) Find perimeter of
sguare having each square having each
s side () equals 679 cm s side (s) equals 177 in
s s
Answer: Answer: Answer:
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16) (-650) + (-131) 17) (-923) + 582 18)
Find the next three numbersin
the sequence
4,3,6510918 , ,
Answer: Answer: Answer:
19) (-991) + (-356) 20) 375+ (-921) 21) (2x 15 +(3x 2%
Answer: Answer: Answer:
22) Find perimeter of 23) 964 + (-872) 24)
square having each Find the next three numbersin
s side () equals 525 m the sequence
3532,4845,61,58,74 , .
s
Answer: Answer: Answer:
25) Find perimeter of 26) 48 x 100 27) Find perimeter of
sguare having each square having each
s side (s) equals 784 cm s side (s) equals 181 in
s s
Answer: Answer: Answer:
28) Find perimeter of 29) (2x 12) +(@Ax17 30) (-871) + (-777)
sguare having each
s side (s) equals 967 ft
s
Answer: Answer: Answer:
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31) (9% 13) + (1 x 103) 32) (8x 8% +(8x 41 33)
Find the next three numbersin
the sequence
9,8,24,23,69,68,204 , ,
Answer: Answer: Answer:
34) Find perimeter of 35) (-229) + (-293) 36) 44 x 1000
sguare having each
s side (s) equals 356 cm
s
Answer: Answer: Answer:
37) 50x 10 38) (-218) + (-754) 39) 144 + (-592)
Answer: Answer: Answer:
40) (1x 25) - (4 x 3%
Answer:
Total: /40
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1) 25,25,30,
8) 3832m
15) 708in
22) 2100m
296

36) 44000

2) 2176in
9) 1192cm
16) -781
23) 92

30) -1648
37) 500

3) 18874368
10) 4700
17)-341
24) 71,87,84,
31) 1009
38) -972
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Answers:

4) 805306371
11) 79,99,92,
18) 17,34,33,
25) 3136cm

32) 1073741826
39) -448

5) 50

12) 94

19) -1347

26) 4800

33) 203,609,608,
40) -2884
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6) 13,21,34,
13) 2716cm
20) -546
27) 724in
34) 1424cm
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7)13,21,34,
14) 1041576
21) 50

28) 3868t
35) -522
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